| Fill in this information to identify the case:                 |  |  |  |  |  |  |
|--|--|--|--|--|--|--|
| Debtor 1 Fox Ortega Enterprises, Inc.                          |  |  |  |  |  |  |
| Debtor 2   |  |  |  |  |  |  |
| (Spouse, if filing)  |  |  |  |  |  |  |
| United States Bankruptcy Court Northern District of California |  |  |  |  |  |  |
| Case number: 16-40050  |  |  |  |  |  |  |

**FILED** 

U.S. Bankruptcy Court Northern District of California

5/24/2016

Edward J. Emmons, Clerk

Official Form 410 Proof of Claim

04/16

Read the instructions before filling out this form. This form is for making a claim for payment in a bankruptcy case. Do not use this form to make a request for payment of an administrative expense. Make such a request according to 11 U.S.C. § 503.

Filers must leave out or redact information that is entitled to privacy on this form or on any attached documents. Attach redacted copies of any documents that support the claim, such as promissory notes, purchase orders, invoices, itemized statements of running accounts, contracts, judgments, mortgages, and security agreements. Do not send original documents; they may be destroyed after scanning. If the documents are not available, explain in an attachment.

A person who files a fraudulent claim could be fined up to \$500,000, imprisoned for up to 5 years, or both. 18 U.S.C. §§ 152, 157, and 3571.

Fill in all the information about the claim as of the date the case was filed. That date is on the notice of bankruptcy (Form 309) that you received.

| Part 1: Identify the Clair  | n   |   |  |  |  |  |  |
|---|---|---|--|--|--|--|--|
| 1.Who is the current creditor?  | Michael A Bradish   |   |  |  |  |  |  |
|   | Name of the current creditor (the person or entity to be paid f                       | for this claim)   |  |  |  |  |  |
|   | Other names the creditor used with the debtor   |   |  |  |  |  |  |
| 2.Has this claim been acquired from someone else?                             | ✓ No ☐ Yes. From whom?  |   |  |  |  |  |  |
| 3.Where should notices and payments to the creditor be sent?                  | Where should notices to the creditor be sent?   | Where should payments to the creditor be sent? (if different) |  |  |  |  |  |
|   | Michael A Bradish   |   |  |  |  |  |  |
| Federal Rule of<br>Bankruptcy Procedure<br>(FRBP) 2002(g)                     | Name  | Name  |  |  |  |  |  |
|   | 143 Humboldt St<br>San Rafael, CA 94901   |   |  |  |  |  |  |
|   | Contact phone305-903-6143   | Contact phone   |  |  |  |  |  |
|   | Contact emailbradishm@comcast.net Contact email                                       |   |  |  |  |  |  |
|   | Uniform claim identifier for electronic payments in chapter 13 (if you use one):      |   |  |  |  |  |  |
| 4.Does this claim amend one already filed?                                    | <ul><li>✓ No</li><li>✓ Yes. Claim number on court claims registry (if known</li></ul> | Filed on  |  |  |  |  |  |
|   | _   | MM / DD / YYYY  |  |  |  |  |  |
| 5.Do you know if anyone<br>else has filed a proof<br>of claim for this claim? | ✓ No ☐ Yes. Who made the earlier filing?  |   |  |  |  |  |  |

| 6.Do you have any<br>number you use to<br>identify the debtor? |            | No<br>Yes. Last 4 digits of the debtor's a  | account or any number you uso                   | e to identify th             | e debtor:   |
|--|------------|---|---|------------------------------|---|
| 7.How much is the claim?                                       | \$         |   | Does this amount included No                    | de interest                  | or other charges?   |
|  |            |   | Yes. Attach statement<br>other charges required | t itemizing i<br>d by Bankrı | nterest, fees, expenses, or uptcy Rule 3001(c)(2)(A).                             |
| 3.What is the basis of the claim?                              | dea<br>Bar | mples: Goods sold, money loth, or credit card. Attach redakruptcy Rule 3001(c).   | acted copies of any docur                       | ments supp                   | orting the claim required by  |
|  |            | Goods sold  |   |                              |   |
| 9. Is all or part of the claim secured?                        |            | Yes. The claim is secured by  Nature of property:  Real estate. If the clai       | m is secured by the debt                        | or's principa<br>Il Form 410 | al residence, file a <i>Mortgage</i><br>–A) with this <i>Proof of Claim</i> .     |
|  |            | Basis for perfection:   |   |                              |   |
|  |            | Attach redacted copies of cinterest (for example, a mo document that shows the li | rtgage, lien, certificate of                    | title, financ                | ce of perfection of a security<br>cing statement, or other                        |
|  |            | Value of property:  | \$  |                              | _   |
|  |            | Amount of the claim that secured:   | is \$   |                              |   |
|  |            | Amount of the claim that unsecured:   | <u>\$</u>                                       |                              | (The sum of the secured and unsecured amounts should match the amount in line 7.) |
|  |            | Amount necessary to cur date of the petition:                                     | re any default as of the                        | \$                           |   |
|  |            | Annual Interest Rate (whe   | en case was filed)                              |                              | %   |
|  |            | ☐ Fixed ☐ Variable  |   |                              |   |
| 10.Is this claim based on a lease?                             |            | No<br>Yes. <b>Amount necessary t</b>  | o cure any default as of                        | f the date of                | of the petition.\$  |
| 11.Is this claim subject to a right of setoff?                 | <b>Y</b>   | No<br>Yes. Identify the property:   |   |                              |   |
|  |            |   |   |                              |   |

Official Form 410 Proof of Claim page 2

| 12.Is all or part of the claim<br>entitled to priority under<br>11 U.S.C. § 507(a)?   | <b>y</b>                 | No<br>Yes. Check all that  | apply:  | Amount entitled to priority                              |
|---|--------------------------|--|---|--|
| A claim may be partly priority and partly   |                          | ☐ Domestic support under 11 U.S.C. §   | t obligations (including alimony and child support) § 507(a)(1)(A) or (a)(1)(B).  | ) \$   |
| nonpriority. For example in some categories, the lawl imits the amount entitled to priority.  |                          | Up to \$2,850* of oproperty or service U.S.C. § 507(a)(7   | deposits toward purchase, lease, or rental of ces for personal, family, or household use. 11  | \$   |
| ornalisa to priority.   |                          | ☐ Wages, salaries,<br>180 days before t  | or commissions (up to \$12,850*) earned within the bankruptcy petition is filed or the debtor's hichever is earlier. 11 U.S.C. § 507(a)(4).   | \$   |
|   |                          |  | es owed to governmental units. 11 U.S.C. §  | \$   |
|   |                          | ☐ Contributions to a   | an employee benefit plan. 11 U.S.C. § 507(a)(5).  | \$   |
|   |                          | ☐ Other. Specify su  | absection of 11 U.S.C. § 507(a)(_) that applies   | \$   |
|   |                          | * Amounts are subject to of adjustment.  | adjustment on 4/01/19 and every 3 years after that for case   | es begun on or after the date                            |
| Part 3: Sign Below  |                          |  |   |  |
| The person completing this proof of claim must sign and date it. FRBP 9011(b).  If you file this claim electronically, FRBP 5005(a)(2) authorizes courts to establish local rules specifying what a signature is.  A person who files a fraudulent claim could be fined up to \$500,000, imprisoned for up to 5 years, or both. 18 U.S.C. §§ 152, 157 and 3571. | I und the a I have and c | I am the trustee, or t<br>I am a guarantor, su<br>erstand that an authorized<br>mount of the claim, the crue<br>e examined the information<br>correct.<br>lare under penalty of perju-<br>ecuted on date | ttorney or authorized agent. the debtor, or their authorized agent. Bankruptcy arety, endorser, or other codebtor. Bankruptcy Ru d signature on this Proof of Claim serves as an acknowledge editor gave the debtor credit for any payments received tow on in this Proof of Claim and have a reasonable belief that the ury that the foregoing is true and correct.  5/24/2016  MM / DD / YYYY | le 3005.<br>ment that when calculating<br>vard the debt. |
|   |                          | •  | son who is completing and signing this claim:   |  |
|   | Nar<br>Title             |  | Michael A Bradish  First name Middle name Last name   |  |
|   | Cor                      | mpany  | <del></del>   | _  |
|   | Ado                      | Iress  | Identify the corporate servicer as the company if servicer  143 Humboldt St  Number Street  | the authorized agent is a                                |
|   | Cor                      | ntact phone 305–9  | San Rafael, CA 94901  City State ZIP Code 903-6143 Email bradishm@com   | cast.net   |

Official Form 410 Proof of Claim page 3

1 attachment

Fri, Mar 12, 2010 03:49 PM

bradishm@comcast.net + Font Size -

Premier Cru back order

From: matt@premiercru.net

Subject: Premier Cru back order
70: bradishm@comcast.net
70: Mike,

Mike,

Here is your entire Premier Cru back order. Wines with X's next to them are in stock, and can be picked up. Please let me know if you have any questions.

Thank you,

Matt Cormier Premier Cru

5890 Christie Ave.

**Emeryville,CA** 

matt@premiercru.net 510-655-6691 ex11

 $\stackrel{\square_{\bullet}}{\sqsubseteq_{\mathbf{K}}} \mathbf{bradish.bo.031210.xls}$ 

XFINITY Connect

https://web.mail.comcast.net/zimbra/h/printmessage?id=148760&tz=America/New\_York&xim=1

XFINITY Connect

5/23/2016

|                          |                          |                |  |                    | 4.34         | 0400.05              |
|--------------------------|--------------------------|----------------|--|--------------------|--------------|----------------------|
| 04/23/2005               | 0000185647               | C3310          |  | \$129.95           | 1 X          | \$129.95             |
| 06/14/2006               | 0000229133               | 34864          |  | \$755.00           | 1 X          | \$755.00             |
| 07/18/2005               | 0000191665               | 29870          | 02 Pinot Gris Clos Windsbuhl 1/2, Zind Humbrecht                               | \$12.99            | 3 XX<br>6 XX | \$38.97              |
| 07/18/2005               | 0000191665               | 29878          | 02 Pinot Gris Rotenberg 1/2, Zind Humbrecht                                    | \$13.99<br>\$14.99 | 1 XX         | \$83.94<br>\$14.99   |
| 03/10/2005               | 0000181235               | 31042          | 03 Graacher Himmelreich Auslese, Dr. Weins-Prum                                | \$14.99<br>\$18.99 | 2 XX         | \$14.99<br>\$37.98   |
| 07/18/2005               | 0000191665               | 29883          | 02 Riesling Clos Windsbuhl 1/2, Zind Humbrecht                                 | \$10.99            | 2 XX         | \$43.00              |
| 07/18/2005               | 0000191665               | 29872          | 02 Pinot Gris Heimbourg 1/2, Zind Humbrecht                                    | \$21.99            | 1 XX         | \$43.00<br>\$21.99   |
| 07/18/2005               | 0000191665               | 29885          | 02 Riesling Heimbourg 1/2, Zind Humbrecht                                      | \$21.99            | 3 XX         | \$65.97              |
| 03/10/2005               | 0000181235               | 27868          | 01 Chateauneuf du Pape, Vieille Julienne                                       | \$21.99<br>\$24.99 | 2 XX         | \$49.98              |
| 07/18/2005               | 0000191665               | 29876          | 02 Pinot Gris Rangen 1/2, Zind Humbrecht                                       | \$25.99            | 1 XX         | \$25.99              |
| 07/18/2005               | 0000191665               | 29888          | 02 Riesling Rangen 1/2, Zind Humbrecht   | \$26.99            | 4 XX         | \$107.96             |
| 07/06/2007               | 0000270550               | 36181          | 05 Chateauneuf les Cailloux, Brunel  | \$27.00            | 4 XX         | \$108.00             |
| 07/06/2007               | 0000270550               | 36167<br>36169 | 03 Chateauneuf du Pape, Feraud<br>05 Chateauneuf du Pape, Feraud               | \$30.00            | 4 XX         | \$120.00             |
| 07/06/2007               | 0000270550               | 36459          | 01 Chianti Classico Riserva II Poggio, Monsanto                                | \$31.99            | 4 XX         | \$127.96             |
| 09/21/2007               | 0000277204<br>0000285249 | 36181          | 05 Chateauneuf les Cailloux, Brunel  | \$32.99            | 4 XX         | \$131.96             |
| 12/28/2007               | 0000285249               | 28166          | 02 Beaune Clos du Roi, Jean Boillot  | \$34.99            | 1 XX         | \$34.99              |
| 06/25/2004<br>07/18/2005 | 0000137012               | 29882          | 02 Riesling Clos Windsbuhl, Zind Humbrecht                                     | \$35.00            | 1 XX         | \$35.00              |
| 05/12/2006               | 0000191003               | 34438          | 05 Rieussec 1/2  | \$35.95            | 12 XX        | \$431.40             |
| 09/12/2007               | 0000223004               | 36833          | 05 Gevrey Lavaux St Jacques, Tortochot   | \$37.99            | 2 XX         | \$75.98              |
| 04/29/2005               | 0000276465               | 29922          | 03 Lascombes   | \$38.99            | 12 XX        | \$467.88             |
| 10/13/2004               | 0000160487               | 28460          | 01 Pinot Gris Rangen, Zind Humbrecht   | \$39.95            | 1 XX         | \$39.95              |
| 10/13/2004               | 0000107297               | 29271          | 02 Gevrey En Champ, Geantet Pansiot  | \$39.95            | 1 XX         | \$39.95              |
| 04/08/2005               | 0000187085               | 28802          | 02 Vosne Romanee Petits Monts, Jadot   | \$39.95            | 2 XX         | \$79.90              |
| 07/07/2004               | 0000154200               | 29420          | 99 Brunello di Montalcino Castelgiocondo, Frescoba                             | \$39.95            | 3 XX         | \$119.85             |
| 08/06/2004               | 0000160000               | 26822          | 01 Chateauneuf Cuvee Chaupin, Janasse  | \$39.95            | 2 XX         | \$79.90              |
| 05/22/2008               | 0000296133               | 37210          | 06 Chablis Preuses (Domaine), Fevre  | \$39.99            | 6 XX         | \$239.94             |
| 05/21/2008               | 0000296170               | 37210          | 06 Chablis Preuses (Domaine), Fevre  | \$39.99            | 6 XX         | \$239.94             |
| 03/10/2005               | 0000181235               | 31047          | 03 Wehlener Sonnenuhr Auslese LGK 1/2, Dr. Wein                                | \$39.99            | 1 XX         | \$39.99              |
| 09/12/2007               | 0000276465               | 37222          | 05 Pommard 1er Cru, Bouchard   | \$41.99            | 2 XX         | \$83.98              |
| 04/26/2006               | 0000224031               | 29976          | 03 Sociando Mallet   | \$42.99            | 6 XX         | \$257.94             |
| 09/19/2007               | 0000276979               | 36616          | 05 Pinot Gris Rangen, Zind Humbrecht   | \$45.00            | 4 XX         | \$180.00             |
| 10/18/2007               | 0000279111               | 36616          | 05 Pinot Gris Rangen, Zind Humbrecht   | \$45.00            | 1 XX         | \$45.00              |
| 10/18/2007               | 0000279111               | 36612          | 05 Riesling Rangen, Zind Humbrecht   | \$45.00            | 2 XX         | \$90.00              |
| 09/07/2007               | 0000276147               | 35624          | 05 Beaune Clos des Ursules, Jadot  | \$45.00            | 2 XX         | \$90.00              |
| 05/05/2006               | 0000225153               | 26889          | 01 Chateauneuf Clos des Papes, Avril   | \$45.00            | 4 XX         | \$180.00             |
| 12/02/2006               | 0000245525               | 26889          | 01 Chateauneuf Clos des Papes, Avril   | \$45.00            | 2 XX         | \$90.00              |
| 05/05/2006               | 0000225153               | 25077          | 2000 Chateauneuf Clos des Papes  | \$45.00            | 4 XX         | \$180.00             |
| 12/02/2006               | 0000245525               | 25077          | 2000 Chateauneuf Clos des Papes  | \$45.00            | 2 XX         | \$90.00              |
| 05/05/2006               | 0000225153               | 26702          | 01 Chateauneuf Cuvee Reservee, Pegau   | \$45.00            | 4 XX         | \$180.00             |
| 07/07/2004               | 0000158099               | 30292          | 2000 Barolo Costa Grimaldi, Einaudi  | \$46.99            | 3 XX         | \$140.97             |
| 08/26/2004               | 0000162897               | 30557          | 99 Taurasi Piano di Montevergine, Gregorio                                     | \$46.99            | 3 XX         | \$140.97             |
| 06/26/2004               | 0000157162               | 28165          | 02 Volnay Fremiets (slight weapage from overfill), J€                          | \$47.99            | 3 XX         | \$143.97             |
| 04/14/2005               | 0000184835               | 31109          | 01 Montelena Cabernet 1/2  | \$49.95            | 1 XX         | \$49.95              |
| 06/26/2004               | 0000157162               | 29287          | 02 Nuits Perrieres, Chevillon  | \$49.95            | 1 XX         | \$49.95              |
| 06/26/2004               | 0000157162               | 29271          | 02 Gevrey En Champ, Geantet Pansiot  | \$49.95            | 1 XX         | \$49.95              |
| 06/26/2004               | 0000157162               | 27385          | 02 Gevrey Cazetiers, Jadot   | \$49.95            | 2 XX         | \$99.90              |
| 10/05/2006               | 0000239769               | 35624          | 05 Beaune Clos des Ursules, Jadot  | \$49.95            | 2 XX         | \$99.90              |
| 03/31/2005               | 0000183560               | 27507          | 02 Clos Vougeot, Laurent   | \$49.95<br>\$40.05 | 2 XX         | \$99.90              |
| 01/29/2005               | 0000177989               | 29439          | 02 Vosne Romanee, Meo Camuzet  | \$49.95<br>\$40.05 | 2 XX<br>2 XX | \$99.90<br>\$99.90   |
| 06/26/2004               | 0000157162               | 29139          | 02 Volnay Clos de la Bousse d'Or, Pousse d'Or                                  | \$49.95<br>\$40.05 | 2 XX<br>2 XX | \$99.90<br>\$99.90   |
| 09/23/2006               | 0000238570               | 35301          | 05 Meursault Poruzots, Henri Boillot   | \$49.95<br>\$49.95 | 2 XX<br>3 XX | \$99.90<br>\$149.85  |
| 10/30/2004               | 0000169135               | 27238          | 02 Corton Charlemagne, Girardin  | \$49.95<br>\$49.95 | 2 XX         | \$149.65<br>\$99.90  |
| 09/07/2007               | 0000276147               | 35641          | 05 Chassagne Morgeot Magenta Blanc, Jadot                                      | \$49.95<br>\$49.95 | 2 XX         | \$99.90<br>\$99.90   |
| 10/14/2005               | 0000203362               | 24785          | 2000 Chablis Butteaux, Raveneau  | \$49.95<br>\$49.95 | 3 XX         | \$99.90<br>\$149.85  |
| 08/26/2004               | 0000162897               | 30563          | 99 Amarone, Allegrini  | \$49.95            | 3 XX         | \$149.85<br>\$149.85 |
| 07/07/2004               | 0000158099               | 29416          | 99 Brunello di Montalcino, Piccolomini   | \$49.95            | 3 XX         | \$149.85<br>\$149.85 |
| 06/02/2004               | 0000154413               | 30006          | 03 Leoville Poyferre   | \$49.95            | 2 XX         | \$99.90              |
| 05/24/2005               | 0000188817               | 26513          | 01 Chateauneuf Cuvee Felix, Bois de Boursan                                    | \$49.95            | 1 XX         | \$99.90<br>\$49.95   |
| 08/06/2004               | 0000161079               | 14761          | 98 Chateauneuf Chaupin, Janasse 01 Chateauneuf Cuvee Speciale, Tardieu Laurent | \$49.95            | 2 XX         | \$99.90              |
| 05/24/2005               | 0000188817               | 24228          | 02 Chambolle Musigny Charmes, Lachaux  | \$49.99            | 3 XX         | \$149.97             |
| 07/08/2005               | 0000193210               | 30490<br>31349 | 03 Chateauneuf Cuvee Reservee, Pegau   | \$49.99            | 3 XX         | \$149.97             |
| 02/23/2006               | 0000217259<br>0000276147 | 31349          | 05 Gevrey Chambertin l'Abeille, Ponsot   | \$55.00            | 2 XX         | \$149.97<br>\$110.00 |
| 09/07/2007               | 0000276147               |                | Claim cel 43 uge of led to 5/24/16 Desc Attachment                             |                    |              | \$110.00             |
| 09/07/2007               | 000021014/               | - 31001        |  | +00.000gC          |              | Ψ110.00              |

| 05/24/2007 | 0000266513 | 36033 | 05 Chassagne Chaumees, H. Boillot                | \$55.00  | 3 XX  | \$165.00   |
|------------|------------|-------|--|----------|-------|------------|
| 05/24/2007 | 0000266513 | 36034 | 05 Chassagne Chenevottes, H. Boillot             | \$55.00  | 3 XX  | \$165.00   |
| 05/24/2007 | 0000266513 | 36035 | 05 Chassagne Macherelles, H. Boillot             | \$55.00  | 3 XX  | \$165.00   |
|            | 0000200313 | 33855 | 01 Brunello di Montalcino, Valdicava             | \$55.00  | 2 XX  | \$110.00   |
| 02/01/2006 |            |       | 06 Chablis Bougros Cote de Bouquerots (Domaine), | \$55.99  | 4 XX  | \$223.96   |
| 05/22/2008 | 0000296195 | 37211 |  | \$58.99  | 3 XX  | \$176.97   |
| 06/26/2004 | 0000157162 | 28790 | 02 Corton Pougets, Jadot                         |          |       | · ·        |
| 09/26/2005 | 0000201247 | 27056 | 02 Clos Vougeot, H. Boillot                      | \$59.95  | 2 XX  | \$119.90   |
| 03/10/2005 | 0000181235 | 31075 | 02 Nuits Murgers, Cathiard                       | \$59.95  | 2 XX  | \$119.90   |
| 09/07/2007 | 0000276147 | 36348 | 05 Corton Renardes, d'Ardhuy                     | \$59.95  | 2 XX  | \$119.90   |
| 10/29/2004 | 0000168809 | 27485 | 02 Gevrey Chambertin, Dugat                      | \$59.95  | 2 XX  | \$119.90   |
| 01/29/2005 | 0000177989 | 15268 | 97 Gevrey Coeur de Roy, Dugat-Py                 | \$59.95  | 1 XX  | \$59.95    |
| 05/05/2005 | 0000187011 | 30302 | 02 Gevrey Clos St Jacque, Sylvie Esmonin         | \$59.95  | 1 XX  | \$59.95    |
| 08/25/2005 | 0000198202 | 19819 | 99 Gevrey Clos St. Jacques, S. Esmonin           | \$59.95  | 2 XX  | \$119.90   |
| 09/07/2007 | 0000130202 | 36907 | 05 Gevrey Mes Cinq Terroirs, Mortet              | \$59.95  | 2 XX  | \$119.90   |
|            |            |       | 04 Chablis les Clos, Fevre                       | \$59.95  | 2 XX  | \$119.90   |
| 07/06/2006 | 0000231746 | 33241 |  | \$59.95  | 2 XX  | \$119.90   |
| 01/29/2005 | 0000177989 | 29321 | 02 Puligny Garenne Duc de Magenta, Jadot         |          |       |            |
| 09/26/2005 | 0000201247 | 24788 | 2000 Chablis Montee de Tonnerre, Raveneau        | \$59.95  | 1 XX  | \$59.95    |
| 10/29/2004 | 0000168809 | 22436 | 2000 Puligny Combettes, Sauzet                   | \$59.95  | 2 XX  | \$119.90   |
| 03/22/2004 | 0000147114 | 29419 | 99 Brunello di Montalcino, Fanti                 | \$59.95  | 36 XX | \$2,158.20 |
| 08/26/2004 | 0000162897 | 30556 | 01 Serpico, Gregorio                             | \$59.95  | 3 XX  | \$179.85   |
| 04/14/2006 | 0000218852 | 33972 | 01 Barolo, Giacosa                               | \$59.95  | 2 XX  | \$119.90   |
| 02/08/2006 | 0000215671 | 33868 | 01 Brunello di Montalcino, Pacenti               | \$59.95  | 2 XX  | \$119.90   |
| 04/14/2006 | 0000218852 | 33974 | 01 Barolo Cannubi, Scavino                       | \$59.95  | 2 XX  | \$119.90   |
| 01/31/2005 | 0000210002 | 29383 | 2000 Barolo Cannubi, Scavino                     | \$59.95  | 3 XX  | \$179.85   |
|            |            |       | 99 Barolo Bric del Fiasc, Scavino                | \$59.95  | 2 XX  | \$119.90   |
| 11/16/2006 | 0000244175 | 35334 |  | \$59.95  | 6 XX  | \$359.70   |
| 06/04/2004 | 0000154621 | 30056 | 03 Pichon Baron                                  |          | 2 XX  | \$119.90   |
| 09/07/2005 | 0000199194 | 22894 | 2000 Beaucastel                                  | \$59.95  |       |            |
| 09/26/2005 | 0000201247 | 31320 | 03 Chateauneuf Cuvee Boisrenard, Beaurenard      | \$59.95  | 2 XX  | \$119.90   |
| 09/12/2007 | 0000276465 | 36835 | 05 Charmes Chambertin, Tortochot                 | \$59.99  | 2 XX  | \$119.98   |
| 09/12/2007 | 0000276465 | 35297 | 05 Puligny Clos de la Mouchere, Henri Boillot    | \$59.99  | 2 XX  | \$119.98   |
| 01/03/2007 | 0000249086 | 36058 | 05 Chablis Les Preuses, Fevre                    | \$59.99  | 4 XX  | \$239.96   |
| 02/08/2006 | 0000215671 | 33855 | 01 Brunello di Montalcino, Valdicava             | \$59.99  | 4 XX  | \$239.96   |
| 11/16/2006 | 0000244175 | 33736 | 04 Chateauneuf Clos des Papes, Avril             | \$59.99  | 4 XX  | \$239.96   |
| 01/13/2007 | 0000250186 | 36148 | 05 Chateauneuf Clos des Papes, Avril             | \$59.99  | 6 XX  | \$359.94   |
|            |            | 36666 | 05 Volnay Taillepieds, Bouchard                  | \$64.99  | 2 XX  | \$129.98   |
| 09/12/2007 | 0000276465 |       |  | \$66.99  | 2 XX  | \$133.98   |
| 08/30/2005 | 0000198496 | 32672 | 01 Barolo Pajana, Clerico                        |          | 4 XX  | \$271.96   |
| 01/03/2007 | 0000249086 | 36059 | 05 Chablis Les Clos, Fevre                       | \$67.99  |       | · ·        |
| 01/20/2005 | 0000177052 | 29375 | 02 Clos de la Roche, Drouhin                     | \$69.95  | 3 XX  | \$209.85   |
| 12/10/2005 | 0000209545 | 33625 | 02 Gevrey Chambertin Coeur de Roy, Dugat-Py      | \$69.95  | 2 XX  | \$139.90   |
| 03/10/2005 | 0000181235 | 30280 | 02 Chambolle Sentiers, Groffier                  | \$69.95  | 2 XX  | \$139.90   |
| 07/08/2005 | 0000193210 | 30492 | 02 Chapelle Chambertin, Pascal Lachaux           | \$69.95  | 3 XX  | \$209.85   |
| 10/14/2005 | 0000203362 | 30613 | 02 Clos de la Roche, Rousseau                    | \$69.95  | 2 XX  | \$139.90   |
| 09/21/2004 | 0000165036 | 17395 | 96 Barolo Bricco Rocche, Ceretto                 | \$69.95  | 2 XX  | \$139.90   |
| 07/18/2005 | 0000191665 | 17394 | 96 Barolo Brunate, Ceretto                       | \$69.95  | 2 XX  | \$139.90   |
|            |            | 32673 | 01 Barolo Ciabot Mentin Ginestra, Clerico        | \$69.95  | 2 XX  | \$139.90   |
| 08/30/2005 | 0000198496 |       |  | \$69.95  | 2 XX  | \$139.90   |
| 08/29/2005 | 0000198465 | 31871 | 99 Brunello Riserva Castelgioconda, Frescobaldi  | \$69.95  | 3 XX  | \$209.85   |
| 07/07/2004 | 0000158099 | 28345 | 99 Barbaresco Santo Stefano, Giacosa             |          |       |            |
| 11/01/2005 | 0000205064 | 32670 | 01 Barolo Bric del Fiasc, Scavino                | \$69.95  | 2 XX  | \$139.90   |
| 05/12/2006 | 0000225664 | 34437 | 05 Rieussec                                      | \$69.95  | 12 XX | \$839.40   |
| 09/24/2007 | 0000277315 | 36649 | 05 Echezeaux, Cacheux                            | \$69.99  | 2 XX  | \$139.98   |
| 10/11/2007 | 0000278589 | 37501 | 06 Puligny Clos de la Mouchere, Boillot          | \$69.99  | 4 XX  | \$279.96   |
| 05/22/2008 | 0000296133 | 37501 | 06 Puligny Clos de la Mouchere, Boillot          | \$69.99  | 2 XX  | \$139.98   |
| 09/07/2007 | 0000276147 | 36340 | 05 Corton Charlemagne, d'Ardhuy                  | \$69.99  | 2 XX  | \$139.98   |
| 10/31/2007 | 0000280336 | 36849 | 03 Barbaresco Asili, Giacosa                     | \$69.99  | 2 XX  | \$139.98   |
| 06/07/2004 | 0000154940 | 30060 | 03 Calon Segur                                   | \$69.99  | 3 XX  | \$209.97   |
|            |            | 36162 | 05 Beaucastel                                    | \$69.99  | 6 XX  | \$419.94   |
| 01/17/2007 | 0000250594 |       |  | \$74.99  | 10 XX | \$749.90   |
| 02/07/2007 | 0000253737 | 36223 | 01 Brunello Castelgiocondo Riserva, Frescobaldi  |          |       | \$299.96   |
| 03/06/2007 | 0000257539 | 36542 | 05 Chateauneuf Deus Ex Machina, Clos St Jean     | \$74.99  | 4 XX  |            |
| 05/16/2008 | 0000295714 | 36718 | 05 Chateauneuf Cuvee Reservee, Pegau             | \$74.99  | 6 XX  | \$449.94   |
| 09/07/2005 | 0000199194 | 32884 | 03 Clos Vougeot, Raphet                          | \$75.00  | 2 XX  | \$150.00   |
| 10/24/2007 | 0000279739 | 36836 | 05 Mazis Chambertin, Tortochot                   | \$75.00  | 2 XX  | \$150.00   |
| 12/28/2005 | 0000211347 | 30449 | 02 Chablis Butteaux, Raveneau                    | \$75.00  | 1 XX  | \$75.00    |
| 04/14/2006 | 0000218852 | 33965 | 01 Barolo Vigna Cicala, Aldo Conterno            | \$75.00  | 4 XX  | \$300.00   |
| 10/13/2004 | 0000210002 | 30412 | 98 Barolo Brunate, Voerzio                       | \$75.00  | 1 XX  | \$75.00    |
|            | 666672974  |       |  |          |       | \$75.00    |
| 10/13/2004 | 0000107297 | CU414 | Ju Daloio la Ocita, Vocizio = 5                  | ψ10.000g | , , , | ψ, σισσ    |

| 02/11/2006               | 0000215889                 | 30779          | 01 Verite La Muse   | \$79.95            | 2 XX         | \$159.90             |
|--------------------------|----------------------------|----------------|---|--------------------|--------------|----------------------|
| 09/24/2007               | 0000277315                 | 36648          | 05 Vosne Romanee Croix Rameau, Cacheux                                  | \$79.95            | 1 XX         | \$79.95              |
| 06/26/2004               | 0000157162                 | 29144          | 02 Volnay Clos des Ducs, d'Angerville                                   | \$79.95            | 1 XX         | \$79.95              |
| 04/08/2005               | 0000184285                 | 30805          | 02 Clos de Beze, Girardin   | \$79.95            | 6 XX         | \$479.70             |
| 09/26/2005               | 0000201247                 | 26910          | 02 Latricieres Chambertin VV, Laurent                                   | \$79.95            | 2 XX         | \$159.90             |
| 03/10/2005               | 0000181235                 | 30613          | 02 Clos de la Roche, Rousseau   | \$79.95            | 2 XX         | \$159.90             |
| 02/15/2007               | 0000255079                 | 26121          | 2000 Chambolle Musigny 1er Cru, Vogue                                   | \$79.95            | 2 XX         | \$159.90             |
| 02/16/2007               | 0000255098                 | 26121          | 2000 Chambolle Musigny 1er Cru, Vogue                                   | \$79.95            | 1 XX         | \$79.95              |
| 12/12/2003               | 0000137908                 | 28541          | 2000 Barolo Vigna Cicala, Aldo Conterno                                 | \$79.95            | 1 XX         | \$79.95              |
| 02/10/2004               | 0000143119                 | 28541          | 2000 Barolo Vigna Cicala, Aldo Conterno                                 | \$79.95            | 4 XX         | \$319.80             |
| 07/07/2004               | 0000158099                 | 28542          | 2000 Barolo Vigna Colonello, Aldo Conterno                              | \$79.95            | 2 XX         | \$159.90             |
| 08/24/2004               | 0000162569                 | 29380          | 2000 Barbaresco Santo Stefano, Giacosa                                  | \$79.95            | 3 XX         | \$239.85             |
| 12/07/2005               | 0000209040                 | 31231          | 03 Chateauneuf Clos des Papes, Avril                                    | \$79.95            | 4 XX         | \$319.80             |
| 08/29/2005               | 0000198465                 | 27103          | 98 Chateauneuf Cuvee Laurence, Pegau                                    | \$79.95            | 2 XX         | \$159.90             |
| 10/31/2007               | 0000280336                 | 36848          | 03 Barolo Falletto, Giacosa   | \$79.99            | 2 XX         | \$159.98             |
| 05/22/2008               | 0000296195                 | 38406          | 05 Cote Rotie La Landonne, Delas  | \$79.99            | 2 XX         | \$159.98             |
| 10/29/2004               | 0000168809                 | 26823          | 01 Chateauneuf Cuvee V.V., Janasse                                      | \$79.99            | 2 XX         | \$159.98             |
| 10/31/2007               | 0000280336                 | 35868          | 05 Chateauneuf Mon Aieul, Usseglio                                      | \$79.99            | 4 XX         | \$319.96             |
| 01/13/2006               | 0000212745                 | 31870          | 01 Chateauneuf Reserve Secrete, Domaine La Solit                        | \$80.00            | 6 XX         | \$480.00             |
| 05/05/2006               | 0000225153                 | 30605          | 03 Chateauneuf Cuvee V.V., Janasse                                      | \$80.00            | 2 XX         | \$160.00             |
| 03/10/2005               | 0000181235                 | 31077          | 02 Vosne Romanee Suchots, Cathiard                                      | \$85.00            | 1 XX         | \$85.00              |
| 12/29/2006               | 0000248705                 | 34396          | 05 Clos de la Roche, Drouhin  | \$85.00            | 4 XX         | \$340.00             |
| 05/05/2006               | 0000225153                 | 34415          | 01 Barbaresco Asili, Giacosa  | \$85.00            | 4 XX         | \$340.00             |
| 09/07/2007               | 0000276147                 | 36691          | 04 Meursault, Lafon   | \$89.00            | 2 XX         | \$178.00             |
| 01/31/2005               | 0000178125                 | 30553          | 01 Dominus  | \$89.95            | 2 XX         | \$179.90             |
| 10/30/2004               | 0000169135                 | 30789          | 01 Phelps Insignia  | \$89.95            | 1 XX         | \$89.95              |
| 03/31/2005               | 0000183560                 | 30781          | 01 Verite Le Desir  | \$89.95            | 1 XX         | \$89.95              |
| 03/31/2005               | 0000183560                 | 30827          | 02 Arietta Variation 1 Syrah  | \$89.95            | 1 XX         | \$89.95              |
| 05/24/2005               | 0000188817                 | 10958          | 96 Echezeaux, Perdrix   | \$89.95            | 1 XX         | \$89.95              |
| 01/18/2005               | 0000176616                 | 15258          | 97 Gevrey 1er Cru, Dugat-Py   | \$89.95            | 1 XX         | \$89.95              |
| 06/12/2007               | 0000268481                 | 37126          | 05 Mazis Chambertin, Dupont-Tisserandot                                 | \$89.95            | 2 XX         | \$179.90             |
| 08/31/2005               | 0000198657                 | 31396          | 03 Clos Vougeot, Jadot  | \$89.95            | 3 XX         | \$269.85             |
| 09/07/2007               | 0000276147                 | 35597          | 05 Clos Vougeot, Jadot  | \$89.95            | 4 XX         | \$359.80             |
| 01/20/2005               | 0000177052                 | 30456          | 02 Corton Clos du Roi Magnum, Pousse d'Or                               | \$89.95            | 1 XX         | \$89.95              |
| 09/21/2004               | 0000165036                 | 30613          | 02 Clos de la Roche, Rousseau   | \$89.95            | 1 XX         | \$89.95              |
| 01/29/2005               | 0000177989                 | 27574          | 02 Corton Charlemagne, Jadot  | \$89.95            | 2 XX         | \$179.90             |
| 03/31/2005               | 0000183560                 | 18714          | 99 Bienvenue Batard Montrachet, Pernot                                  | \$89.95            | 1 XX         | \$89.95              |
| 03/18/2005               | 0000182382                 | 26615          | 2000 Galatrona, Petrolo   | \$89.95            | 1 XX         | \$89.95              |
| 08/24/2004               | 0000162569                 | 29381          | 2000 Barbaresco Rabaja, Giacosa   | \$89.95            | 3 XX         | \$269.85             |
| 03/28/2005               | 0000183166                 | 14979          | 96 Barolo Villero, Giacosa  | \$89.95            | 2 XX         | \$179.90             |
| 04/23/2005               | 0000185524                 | 19066          | 99 Palmer   | \$89.95            | 3 XX         | \$269.85             |
| 07/18/2005               | 0000191665                 | 26264          | 01 Beaucastel Blanc Roussanne VV  | \$89.95            | 1 XX         | \$89.95              |
| 05/24/2005               | 0000188817                 | R1593          |   | \$89.95            | 2 XX<br>2 XX | \$179.90<br>\$170.00 |
| 12/29/2006               | 0000248719                 | 35114          | 05 Clos des Lambrays  | \$89.99            | 2 XX         | \$179.98<br>\$179.98 |
| 05/22/2008               | 0000296195                 | 35134          | 05 Cote Rotie Mordoree, Chapoutier                                      | \$89.99            | 2 XX         | \$179.98<br>\$179.98 |
| 05/22/2008               | 0000296195                 | 35865          | 05 Ermitage Greffieux, Chapoutier                                       | \$89.99<br>\$89.99 | 2 XX         | \$179.98<br>\$179.98 |
| 05/22/2008               | 0000296195                 | 22813          | 2000 Chateauneuf Cuyee V.V., Janasse                                    | \$89.99            | 4 XX         | \$359.96             |
| 10/31/2007               | 0000280336                 | 37881          | 06 Chateauneuf Cuvee Mon Aieul, Usseglio 03 Pichon Lalande              | \$91.99            | 3 XX         | \$275.97             |
| 06/09/2004               | 0000155302                 | 30099<br>34996 | 04 Corton Charlemagne, Bouchard   | \$95.00            | 4 XX         | \$380.00             |
| 02/14/2007               | 0000254736<br>0000197884   | 22199          | 99 Montelena Cabernet   | \$99.50            | 1 XX         | \$99.50              |
| 08/23/2005<br>10/24/2007 | 0000197884                 | 37845          | 05 Echezeaux, Gambal  | \$99.95            | 2 XX         | \$199.90             |
| 02/02/2007               | 0000279739                 | 34396          | 05 Clos de la Roche, Drouhin  | \$99.95            | 2 XX         | \$199.90             |
| 10/11/2007               | 0000233119                 | 37051          | 05 Corton Bressandes, Drouhin   | \$99.95            | 4 XX         | \$399.80             |
| 05/05/2005               | 0000278389                 | 31580          | 02 Pommard Vignots, Leroy   | \$99.95            | 2 XX         | \$199.90             |
| 08/06/2004               | 0000167011                 | C3641          | 93 Pommard Vignots, Leroy   | \$99.95            | 2 XX         | \$199.90             |
| 09/07/2007               | 0000101079                 | 36246          | 05 Morey Cuvee Alouettes, Ponsot  | \$99.95            | 4 XX         | \$399.80             |
| 09/07/2007               | 0000276147                 | 30457          | 02 Corton Bressandes Magnum, Pousse d'Or                                | \$99.95            | 1 XX         | \$99.95              |
| 06/26/2004               | 0000177052                 | 29498          | 02 Conton Bressandes Magnum, Fousse d'Or<br>02 Chambolle 1er Cru, Vogue | \$99.95            | 2 XX         | \$199.90             |
| 04/14/2006               | 0000157162                 | 33967          | 01 Barolo Cascina Francia, Giacomo Conterno                             | \$99.95            | 2 XX         | \$199.90             |
|                          | 0000218852                 | 30293          | 2000 Barolo Costa Grimaldi Magnum, Einaudi                              | \$99.95            | 1 XX         | \$99.95              |
| 07/07/2004               | 0000158099                 | 17114          | 98 Chateauneuf Cuvee Boisrenard, Beaurenard                             | \$99.95            | 2 XX         | \$199.90             |
| 03/31/2008<br>08/05/2005 | 0000292301                 | 23666          | 2000 Chateauneuf Cuvee Centenaire, Brunel                               | \$99.95            | 4 XX         | \$399.80             |
| 05/16/2008               | 0000196677                 | 38388          | 06 Corton Charlemagne, Bonneau du Martray                               | \$99.99            | 2 XX         | \$199.98             |
| 05/22/2008               | 0000295714<br>060029646540 |                | Claim Charles Butteled, Ravade Desc Attachment                          |                    |              | \$199.98             |
| 0012212000               | 0000200100                 | 99903          | of Onabile Butteaux, Naverleau 2000                                     | \$00.00-g          | - /~         | Ψ100.00              |

| 06/20/2008 | 0000298248  | 38818  | 04 Barolo Croera di la Morra, Giacosa              | \$99.99    | 2 XX      | \$199.98    |
|------------|-------------|--------|--|------------|-----------|-------------|
| 11/07/2006 | 0000243125  | 35845  | 03 Cote Rotie d'Ampuis, Guigal                     | \$99.99    | 2 XX      | \$199.98    |
| 10/30/2007 | 0000280270  | 35514  |  | \$99.99    | 6 XX      | \$599.94    |
| 05/22/2008 | 0000296195  | 34850  | ·  | \$99.99    | 2 XX      | \$199.98    |
| 05/23/2008 | 0000296417  | 34850  |  | \$99.99    | 4 XX      | \$399.96    |
|            |             |        |  |            |           |             |
| 06/02/2004 | 0000154374  | 30008  | , ,  | \$104.00   | 1 XX      | \$104.00    |
| 05/05/2006 | 0000225153  | 24597  |  | \$105.00   | 4 XX      | \$420.00    |
| 07/18/2005 | 0000191665  | C1218  | 91 Dunn Howell Mountain                            | \$109.95   | 1 XX      | \$109.95    |
| 10/24/2007 | 0000279739  | 37846  | 05 Clos Vougeot, Gambal                            | \$109.95   | 2 XX      | \$219.90    |
| 02/23/2007 | 0000256102  | 36452  |  | \$109.95   | 2 XX      | \$219.90    |
| 02/11/2005 | 0000179309  | 29524  |  | \$109.95   | 1 XX      | \$109.95    |
|            | 0000173303  | 29524  | 02 Latricieres Chambertin, Jadot                   | \$109.95   | 1 XX      | \$109.95    |
| 03/10/2005 |             |        |  |            |           | · ·         |
| 02/11/2006 | 0000215889  | 27118  | 01 Meursault Charmes, Lafon                        | \$109.95   | 1 XX      | \$109.95    |
| 07/18/2005 | 0000191665  | 20990  | 2000 Lynch Bages                                   | \$109.95   | 1 XX      | \$109.95    |
| 12/22/2006 | 0000248119  | 35167  | 05 Corton Charlemagne, Boillot                     | \$109.99   | 2 XX      | \$219.98    |
| 02/02/2007 | 0000253011  | 35167  | 05 Corton Charlemagne, Boillot                     | \$109.99   | 3 XX      | \$329.97    |
| 05/22/2008 | 0000296195  | 33004  | 04 Corton Charlemagne Quintessence, Girardin       | \$109.99   | 2 XX      | \$219.98    |
| 09/07/2007 | 0000276147  | 37348  | 99 Dom Perignon                                    | \$115.00   | 4 XX      | \$460.00    |
| 10/24/2007 | 0000279739  | 37348  | 99 Dom Perignon                                    | \$115.00   | 2 XX      | \$230.00    |
|            |             |        |  |            | 3 XX      |             |
| 10/05/2006 | 0000239769  | 35606  | 05 Clos de la Roche, Jadot                         | \$115.00   |           | \$345.00    |
| 12/29/2006 | 0000248705  | 35606  | 05 Clos de la Roche, Jadot                         | \$115.00   | 1 XX      | \$115.00    |
| 01/27/2007 | 0000252181  | 35606  | 05 Clos de la Roche, Jadot                         | \$115.00   | 1 XX      | \$115.00    |
| 10/05/2006 | 0000239769  | 35640  | 05 Corton Charlemagne, Jadot                       | \$115.00   | 1 XX      | \$115.00    |
| 02/23/2006 | 0000217259  | 31353  | 03 Chateauneuf Cuvee Centenaire, Brunel            | \$115.00   | 3 XX      | \$345.00    |
| 02/23/2007 | 0000256102  | 36451  | 05 Chambolle Musigny Fuees, Faiveley               | \$119.95   | 2 XX      | \$239.90    |
| 08/31/2005 | 0000198657  | 31397  | 03 Chapelle Chambertin, Jadot                      | \$119.95   | 2 XX      | \$239.90    |
|            |             |        | •  |            |           |             |
| 02/14/2007 | 0000254797  | 35606  | 05 Clos de la Roche, Jadot                         | \$119.95   | 1 XX      | \$119.95    |
| 03/31/2005 | 0000183560  | 30311  | 2000 Barolo Sperrs, Gaja                           | \$119.95   | 1 XX      | \$119.95    |
| 02/11/2006 | 0000215889  | 16615  | 99 Haut Brion                                      | \$119.95   | 2 XX      | \$239.90    |
| 05/22/2008 | 0000296133  | 37515  | 06 Corton Charlemagne, Boillot                     | \$119.99   | 2 XX      | \$239.98    |
| 06/04/2004 | 0000154621  | 30058  | 03 Pichon Baron Magnum                             | \$124.00   | 1 XX      | \$124.00    |
| 08/23/2005 | 0000197884  | 17101  | 97 Montelena Cabernet                              | \$125.00   | 1 XX      | \$125.00    |
| 05/05/2006 | 0000225153  | 33820  | 04 Clos de la Roche, Ponsot                        | \$125.00   | 1 XX      | \$125.00    |
|            |             |        |  | \$125.00   | 1 XX      | \$125.00    |
| 12/12/2003 | 0000137908  | 28486  | 2000 Barbaresco Rabaja Magnum, Bruno Rocca         |            |           |             |
| 01/20/2005 | 0000177052  | 31401  | 2000 Barbaresco Asili Riserva, Giacosa             | \$129.95   | 2 XX      | \$259.90    |
| 01/25/2005 | 0000177550  | 31401  | 2000 Barbaresco Asili Riserva, Giacosa             | \$129.95   | 4 XX      | \$519.80    |
| 11/16/2006 | 0000244175  | 35335  | 99 Barolo Bric del Fiasc Magnum, Scavino           | \$129.95   | 1 XX      | \$129.95    |
| 05/16/2008 | 0000295714  | 36290  | 05 Griottes Chambertin, Jadot                      | \$129.99   | 2 XX      | \$259.98    |
| 05/16/2008 | 0000295714  | 35602  | 05 Latricieres Chambertin, Jadot                   | \$129.99   | 2 XX      | \$259.98    |
| 12/02/2006 | 0000245525  | 30600  | 03 Chateauneuf Deux Freres, Usseglio               | \$135.00   | 2 XX      | \$270.00    |
| 05/28/2004 | 0000153893  | 29999  | 03 Pavie   | \$136.99   | 3 XX      | \$410.97    |
|            |             |        | 05 Rieussec Magnum                                 | \$143.00   | 1 XX      | \$143.00    |
| 04/28/2006 | 0000224423  | 34439  |  |            |           |             |
| 06/14/2006 | 0000229133  | 34439  | 05 Rieussec Magnum                                 | \$143.00   | 1 XX      | \$143.00    |
| 06/07/2004 | 0000154940  | 30062  | 03 Calon Segur Magnum                              | \$144.00   | 1 XX      | \$144.00    |
| 04/11/2005 | 0000184768  | 28419  | 02 Clos de Tart                                    | \$145.00   | 2 XX      | \$290.00    |
| 02/06/2007 | 0000253534  | 36309  | 05 Beaucastel Magnum                               | \$145.00   | 1 XX      | \$145.00    |
| 05/22/2008 | 0000296195  | 38408  | 05 Ermitage Blanc Ex-Voto, Guigal                  | \$145.00   | 2 XX      | \$290.00    |
| 02/08/2007 | 0000253895  | 36339  | 05 Echezeaux, Arnoux                               | \$149.95   | 2 XX      | \$299.90    |
| 11/01/2005 | 0000205064  | 19751  | 99 Clos de Tart                                    | \$149.95   | 1 XX      | \$149.95    |
|            |             |        |  | \$149.95   | 2 XX      | \$299.90    |
| 02/23/2007 | 0000256104  | 36456  | 05 Clos Vougeot, Faiveley                          |            |           |             |
| 02/23/2007 | 0000256104  | 36457  | 05 Corton Clos des Cortons, Faiveley               | \$149.95   | 2 XX      | \$299.90    |
| 02/23/2007 | 0000256104  | 36455  | 05 Echezeaux, Faiveley                             | \$149.95   | 2 XX      | \$299.90    |
| 03/10/2005 | 0000181235  | 29016  | 02 Bonnes Mares, Groffier                          | \$149.95   | 1 XX      | \$149.95    |
| 03/10/2005 | 0000181235  | 29280  | 02 Chambolle Musigny Amoureuses, Groffier          | \$149.95   | 1 XX      | \$149.95    |
| 01/20/2005 | 0000177052  | 19375  | 99 Bonnes Mares, Groffier                          | \$149.95   | 1 XX      | \$149.95    |
| 04/23/2005 | 0000185647  | 11441  | 96 Clos de Beze, Jadot                             | \$149.95   | 1 XX      | \$149.95    |
|            |             | 28286  | 01 Vosne Romanee Beauxmonts, Leroy                 | \$149.95   | 3 XX      | \$449.85    |
| 08/06/2004 | 0000161079  |        | •  |            |           |             |
| 01/26/2006 | 0000213936  | 29999  | 03 Pavie   | \$149.95   | 12 XX     | \$1,799.40  |
| 09/07/2005 | 0000199194  | 31889  | 03 Bonnes Mares, Groffier                          | \$155.00   | 1 XX      | \$155.00    |
| 02/07/2007 | 0000253661  | 36319  | 04 Corton Charlemagne, Faiveley                    | \$155.00   | 2 XX      | \$310.00    |
| 06/14/2006 | 0000229133  | 34908  | 05 Troplong Mondot                                 | \$155.00   | 2 XX      | \$310.00    |
| 10/11/2007 | 0000278589  | 34580  | 96 Pol Roger Winston Churchill                     | \$159.95   | 4 XX      | \$639.80    |
| 01/20/2005 | 0000177052  | 29366  | 02 Clos de Beze, Bouchard                          | \$159.95   | 1 XX      | \$159.95    |
| 02/23/2007 | 0000177032  | 36454  | _ 05 Latricieres Chambertin, Faiveley _            | \$159.95   | 2 XX      | \$319.90    |
|            | 00002536614 |        | Clay Callate Charle Ray NE / 24 Veley Desc Attachm | ent 150.30 | e 5 of xx | \$319.90    |
| 02/07/2007 | UUUUZ53001T | ~3001/ | - oo conon-chanemagne, raweley                     | φ+υσ.συ~9  | Z'///     | कुठ । छ. छ0 |

| 07/07/2004 | 0000158099   | 30295 | 2000 Barolo Bric del Fiasc Magnum, Scavino  | \$159.95 | 1 XX  | \$159.95             |
|------------|--------------|-------|---|----------|-------|----------------------|
| 06/14/2004 | 0000155761   | 30156 |   | \$159.95 | 3 XX  | \$479.85             |
| 10/31/2007 | 0000280336   | 35869 |   | \$159.95 | 2 XX  | \$319.90             |
| 03/12/2007 | 0000258246   | 36589 | , , , , , , , , , , , , , , , , , , ,   | \$159.99 | 2 XX  | \$319.98             |
| 08/24/2006 | 0000235715   | 31820 | ·   | \$169.95 | 2 XX  | \$339.90             |
|            |              |       |   |          |       |                      |
| 06/26/2004 | 0000157162   | 29175 | •   | \$169.95 | 1 XX  | \$169.95             |
| 10/31/2007 | 0000280336   | 37882 |   | \$169.99 | 2 XX  | \$339.98             |
| 01/26/2007 | 0000251723   | 34148 | 02 Clos de la Roche Magnum, Drouhin   | \$175.00 | 1 XX  | \$175.00             |
| 09/07/2007 | 0000276147   | 34397 | 05 Clos Vougeot, Drouhin  | \$175.00 | 2 XX  | \$350.00             |
| 08/31/2005 | 0000198657   | 31398 | 03 Bonnes Mares, Jadot  | \$179.95 | 3 XX  | \$539.85             |
| 07/07/2004 | 0000158099   | 30291 | 2000 Barolo Cicala Magnum, Conterno   | \$179.95 | 1 XX  | \$179.95             |
| 10/23/2007 | 0000279676   | 37843 |   | \$179.95 | 2 XX  | \$359.90             |
| 05/22/2008 | 0000296195   | 36029 |   | \$179.99 | 1 XX  | \$179.99             |
| 12/29/2006 | 0000238138   | 35116 |   | \$185.00 | 1 XX  |                      |
|            |              |       | , ,   |          |       | \$185.00<br>\$185.00 |
| 05/22/2008 | 0000296195   | 35135 |   | \$185.00 | 1 XX  | \$185.00             |
| 06/09/2004 | 0000155302   | 30101 | 03 Pichon Lalande Magnum  | \$188.00 | 1 XX  | \$188.00             |
| 10/30/2004 | 0000169135   | 30806 | 01 Phelps Insignia Magnum   | \$189.95 | 1 XX  | \$189.95             |
| 05/24/2005 | 0000188817   | 11578 | 97 Bonnes Mares, d'Auvenay  | \$189.95 | 1 XX  | \$189.95             |
| 09/01/2005 | 0000198779   | 31399 | 03 Clos de Beze, Jadot  | \$189.95 | 1 XX  | \$189.95             |
| 02/11/2006 | 0000215889   | 27119 | 01 Meursault Perrieres, Lafon   | \$189.95 | 1 XX  | \$189.95             |
| 10/23/2007 | 0000279676   | 37844 | 03 Barolo Sperss, Gaja  | \$199.00 | 2 XX  | \$398.00             |
| 10/05/2006 | 0000239769   | 35598 | 05 Clos de Beze, Jadot  | \$199.95 | 1 XX  | \$199.95             |
| 03/10/2005 | 0000233703   | 19300 |   | \$199.95 | 1 XX  |                      |
|            |              |       | 99 Vosne Romanee Beauxmonts, Leroy  |          |       | \$199.95             |
| 07/18/2005 | 0000191665   | 21026 | 2000 Pichon Baron Magnum  | \$199.95 | 1 XX  | \$199.95             |
| 10/30/2007 | 0000280270   | 35515 | 05 Chateauneuf du Pape V.V. Magnum, Janasse   | \$199.95 | 1 XX  | \$199.95             |
| 12/01/2006 | 0000245456   | 34148 | 02 Clos de la Roche Magnum, Drouhin   | \$200.00 | 1 XX  | \$200.00             |
| 12/28/2005 | 0000211347   | 20020 | 99 Clos de la Roche, H. Lignier   | \$219.95 | 1 XX  | \$219.95             |
| 04/14/2006 | 0000218852   | 33968 | 01 Barolo Cascina Francia Magnum, Giacomo Conte   | \$219.95 | 1 XX  | \$219.95             |
| 04/23/2005 | 0000185647   | 10559 | 90 Clos de Beze, Jadot  | \$225.00 | 1 XX  | \$225.00             |
| 02/15/2007 | 0000255034   | 36182 | 05 Chateauneuf Cuvee Centenaire, Brunel   | \$245.00 | 2 XX  | \$490.00             |
| 02/16/2007 | 0000255098   | 36182 | 05 Chateauneuf Cuvee Centenaire, Brunel   | \$245.00 | 2 XX  | \$490.00             |
| 05/28/2004 | 0000153893   | 30000 |   | \$278.00 | 1 XX  |                      |
|            |              |       | 03 Pavie Magnum   |          |       | \$278.00             |
| 06/27/2007 | 0000269746   | 37369 | 96 Krug   | \$285.00 | 6 XX  | \$1,710.00           |
| 02/09/2005 | 0000179073   | 31590 | 02 Vosne Romanee Beauxmonts, Leroy  | \$289.95 | 1 XX  | \$289.95             |
| 03/19/2004 | 0000146899   | 29422 | 99 Brunello di Montalcino 3 Liter, Fanti  | \$295.00 | 2 XX  | \$590.00             |
| 06/16/2006 | 0000229515   | 34937 | 05 Pavie  | \$297.99 | 4 XX  | \$1,191.96           |
| 06/14/2004 | 0000155761   | 30158 | 03 Leoville las Cases Magnum  | \$324.00 | 1 XX  | \$324.00             |
| 01/18/2005 | 0000176654   | 16929 | 99 Pavie, 3 Liter   | \$349.95 | 1 XX  | \$349.95             |
| 05/12/2006 | 0000225716   | 29345 | 01 Richebourg, DRC  | \$395.00 | 1 XX  | \$395.00             |
|            |              |       | 0 · · · · · · · · · · · · · · · · · · ·   | <b>,</b> | 739   | \$65,512.30          |
|            |              |       |   |          |       | <b>400,072,00</b>    |
| 03/10/2005 | 0000181235   | 28052 | 02 Graacher Domprobst Kabinett, W.Schaefer  | \$17.99  | 1     | \$17.99              |
| 06/26/2004 | 0000157162   | 29563 | 02 Chambolle Musigny V.V., Geantet Pansiot  | \$33.99  | 2     | \$67.98              |
| 03/10/2005 | 0000181235   | 30464 | 02 Gevrey Chambertin, Rousseau  | \$33.99  | 2     | \$67.98              |
| 07/07/2005 | 0000192914   | 28540 | 2000 Barolo Bussia Soprana, Aldo Conterno   | \$34.99  | 12    | \$419.88             |
| 08/06/2004 | 0000161079   | 29245 | 02 Meursault Poruzots, Mikulski   | \$39.95  | 2     | \$79.90              |
|            |              |       |   |          |       |                      |
| 08/06/2004 | 0000161079   | 29246 | 02 Meursault Charmes, Mikulski  | \$39.99  | 2     | \$79.98              |
| 06/26/2004 | 0000157162   | 29564 | 02 Chambolle Musigny 1er, Geantet Pansiot   | \$45.00  | 1     | \$45.00              |
| 07/18/2005 | 0000191665   | 29887 | 02 Riesling Rangen, Zind Humbrecht  | \$47.99  | 1     | \$47.99              |
| 07/18/2005 | 0000191665   | 17017 | 99 Corton Charlemagne, Ambroise   | \$49.95  | 2     | \$99.90              |
| 10/14/2005 | 0000203362   | 31070 | 01 Chablis Chapelot, Raveneau   | \$49.95  | 2     | \$99.90              |
| 10/29/2004 | 0000168809   | 29553 | 01 Puligny Combettes, Sauzet  | \$49.95  | 1     | \$49.95              |
| 07/07/2004 | 0000158099   | 28344 | 99 Barbaresco Asili, Giacosa  | \$59.95  | 3     | \$179.85             |
| 06/26/2004 | 0000157162   | 27388 | 02 Gevrey Clos St. Jacques, Jadot   | \$69.95  | 2     | \$139.90             |
| 05/24/2005 | 0000188817   | 30448 | 02 Gevrey Fontenys, Roty  | \$69.95  | 1     | \$69.95              |
| 08/06/2004 | 0000160017   | 27554 | 01 Bonnes Mares, Frederick Magnien  | \$69.99  | 1     | \$69.99              |
|            |              |       |   |          |       |                      |
| 03/06/2007 | 0000257539   | 36541 | 05 Chateauneuf Combe des Fous, Clos St Jean   | \$69.99  | 4     | \$279.96             |
| 05/22/2008 | 0000296133   | 38763 | 06 Chateauneuf Cuvee Reservee, Pegau  | \$69.99  | 6     | \$419.94             |
| 02/11/2006 | 0000215889   | 30781 | 01 Verite Le Desir  | \$79.95  | 2     | \$159.90             |
| 08/30/2005 | 0000198496   | 30989 | 01 Barolo Sori Ginestra, Conterno-Fantino   | \$79.95  | 2     | \$159.90             |
| 05/12/2004 | 0000151930   | 28134 | 02 Batard Montrachet, Girardin  | \$109.95 | 1     | \$109.95             |
| 12/12/2003 | 0000137908   | 26778 | 98 Barolo Riserva Granbussia, Conterno  | \$125.00 | 1     | \$125.00             |
| 07/18/2005 | 0000191665   | 32444 | 04 Latour   | \$149.99 | 3     | \$449.97             |
| 02/08/2007 | 000982538854 |       | C105n/0214RomanterS06/04/AfrouDesc Attachme   |          |       | \$319.90             |
|            | OUDG TO H    | 3000  | Signification of the property | e = 1-ut | 10001 | ,                    |

| 05/22/2008 | 0000296195 | 36557 | 06 Ermitage Pavillon, Chapoutier         | \$159.99 | 2   | \$319.98    |
|------------|------------|-------|--|----------|-----|-------------|
| 11/24/2004 | 0000171597 | 13771 | 97 Barolo Bric del Fiasc Magnum, Scavino | \$175.00 | 1   | \$175.00    |
| 01/16/2007 | 0000250494 | 36159 | 05 Clos de Tart                          | \$195.00 | 4   | \$780.00    |
| 02/02/2007 | 0000253119 | 36294 | 05 Clos de la Roche Magnum, Drouhin      | \$199.95 | 1   | \$199.95    |
| 05/23/2008 | 0000296417 | 34852 | 05 Climens Magnum                        | \$199.99 | 1   | \$199.99    |
| 05/20/2004 | 0000152718 | 22577 | 97 Brunello Magnum, Piccolomini          | \$225.00 | 1   | \$225.00    |
| 06/16/2006 | 0000229515 | 34942 | 05 Pavie Decesse                         | \$245.00 | 12  | \$2,940.00  |
|            |            |       |  |          | 78  | \$8,400.58  |
|            |            |       |  |          | 817 | \$73,912.88 |